YpaeHeHusi u
HepaseHcmea c
MOOYJIEM.

2umHa3ust 64
yuumesio Mamemamuxu
KomenvHurxoea H. B.



YpaeHeHusi c modyrnem

- 2 . 2 f=9
fl=lgl © f2= g% o [fz_

g.
g =0,

_ g =0,
fl=9 < {fzzgz & { F=9

fl=f & =20
fl==f & F=8



OnpederneHue Mooyris

9] = {x, eciux = 0,
—x, ecniux < 0.



2

lal? = a

Jaz lab| = |a]|b]

la|

la| + |b| = |a + b| HepageHCcmeo
mpey20/bHUKa

lal| + |b| = |la+ b| ©ab =0

a =0,

lal+|bl= a+ b @{bzo_



36
a) (MI'Y, xum. ¢-1). |x|=4 — x;
6) (MIY, xum. d-1). |x|=2 — x;
B) (MI'Y, ¢us. d-1). 2|x+1|=2 - x;
r) (MI'Y, 6uou. ¢-1). |x - 1|+ |2x - 3|=2;
n) (MI'Y, ocux, ¢-1). |[2x - 15|=22 - |2x + 7|;
e) (MI'Y, reorp. @-1). |2x + 8|~ |x - 5|=12;
x) (MI'VY, reorp. @-1). |2x+9|-|x-6]|=15;
3) (MT'Y, reorp. ¢-1). |6x—8|-|Tx-4|=2x-1
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a) (MI'Y, skoH. d-1). 3|x+ 2|+ x* + 6x + 2 = 0;
6) (MI'Y, skoH. d-T). 3|x+ 1|+ x° +4x — 3=0;
B) (MTY, 6uox. d-1). (x — 7)* - |x - 7| = 30;

r) (MI'Y, comuon. d-r1). |x2 +3x|=2(x+ 1);

n) (MI'Y, comuou. bd-T). Ix2 - 3x| = 2x - 4.
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x| =4 - x; |12x - 15|=22 - |2x+ 7 |;
|x|=2—x; ||2x+8||—||x_5||=12;
Sy 2x+9|-|x-6|=15;
2|x+1|=2-x; |5x-38|-|Tx-4|=2x-1

lx—-1|+|2x-8|=2;
S|lx+ 2|+ x°+6x+ 2=0;
8|x+1|+x*+4x—3=0;
(x-T7)7°-|x-17|=30;

| x® + 8x| =2 (x + 1);
| x* — 3x| = 2x — 4.

37




HepaseHcmea ¢ MoOyriem

f>g
f<-—g.

fl<g e —g< f<yg

If|>g=>[



19 1 1 19
s Nel 1942 8x 3 23x2—|—§x—§.
29 35 61 19
N2 |x? > 2x? .
YTV Tt T 12
N93 1__ g
x| T x?

- N4 D5y 48— 5x| < 80x — 64.



